C314 O®©AKG

SERVICE MANUAL / # 3458J00010/06/2015

11

10

|
—
|

| /] M \

e
7
6
3
L ®
\§
a
23

AKG CUSTOMER SERVICE DEPARTMENT / Laxenburger Strale 254 / 1230 Vienna, Austria
TEL: +43 1 866 54-0/ FAX: +43 1 866 54-1514 /service@akg.com / www.akg.com

1/2



C314 O®©AKG

SERVICE MANUAL / # 3458J00010/06/2015

Parts list / Stiickliste

A Part number uant. .
Description Pos. Bestellnummer QStUck/ Bezeichnung
Housing 1 5055415 1 Gehause
Housing top 2 3185211010 1 Gehause oben

Capsule frame 3 5055412 1 Kapseltrager
Frame holder w. contact pins | 4 5055450 1 Kapseltragehalter
Decoration ring 5 5056257 1 Zierring
Capsule, incl #7#8+#15 6 5060650 1 Kapsel, inkl. #7#8#15
Capsule suspension 7 2820714010 1 Kapsellagerung
Solder tag 8 4149N60590 1 Létfahne
Stranded wire 9 5040748 4 Litze
Outer grill 10 5056259 1 AuBeres Gitter
Inner grill 11 3185714010 2 Inneres Gitter
Screw M3x35 black 12 | 7045D30050 2 Schraube M3x35 black
Screw M2,5x6 13 7500D2502 1 Schraube M2,5x6
Outer grill (black) 14 3185M1202 1 AuBeres Gitter (schwarz)
Screw 15 | 2072208020 1 Schraube
Label 16 5056258 1 Label
Side cap 17 5055418 1 Knopf, Seite
Lock washer 18 | 6797D32030 2 Zahnscheibe
Main pcb 20 5049623 1 Hauptprint
Light pipe 22 5055417 1 Lichtleiter
Cap case 23 5055416 1 Knopfgehduse
Pattern cap 24 5055414 1 Knopf, Richtcharakteristik
Stand adapter SA60 - 6001H60010 1 Stativanschluss

AKG CUSTOMER SERVICE DEPARTMENT / Laxenburger Strale 254 / 1230 Vienna, Austria
TEL: +43 1 866 54-0/ FAX: +43 1 866 54-1514 /service@akg.com / www.akg.com

2/2



